KML Middle School Tournament – Sample Questions

1.
If x ⊠ y = (x + y)2 for positive integers x and y, then 4 ⊠ 5 = (4 + 5)2 = 92 = 81.

What is the value of 2 ⊠ 3?

2.
If 1 bag of seed covers exactly 90 square meters, and each square meter produces 60 pounds of oats, how many pounds of oats will be produced if 3 bags are planted?

3.
The rectangle shown is divided into 10 congruent sections, three of which are white. What percent of the rectangle is gray?
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4.
How many ways can the integers 1 through 6 be arranged in the 2-by-3 grid shown such that each row and each column have their numbers in increasing order?

	


	
	

	
	
	


5.
Starting with the G on top and only moving one letter at a time to one of the two closest letters in the row beneath it, how many different paths from top to bottom spell GREAT?

G
R   R
 E   E   E 
   A   A   A   A
   T  T   T   T   T
6.
If three woodchucks could chuck 600 pounds of wood in 5 days, how many pounds of wood could a woodchuck chuck in one day?
7.
Where Richard lives, there is a 4.75% tax rate, so a dresser priced at $96 would cost $100.56 with tax. Where Olivia lives, a $96 item costs $102 with tax. What percent is the tax rate where Olivia lives? Express your answer to the nearest hundredth.


8.
What is the value of the greatest of the following expressions:
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9.
A jeweler can bend a piece of wire to make a circle with an area of 615.44 cm2. What is the maximum area the jeweler could enclose with the same length of wire in the shape of a square?    Express your answer to the nearest whole number.
10.
If a + b = 3 and c + w = 4, what is the value of ac + bw + aw + bc?
11.
Five children had dinner. Chris ate more than Max. Brandon ate less than Kayla. Kayla ate less than Max but more than Tanya. Which child ate the second most?
12.
A 51 cm rod is built from 5 cm rods and 2 cm rods. All of the 5 cm rods must come first, and are followed by the 2 cm rods. For example, the rod could be made from seven 5 cm rods followed by eight 2 cm rods. How many ways are there to build the 51 cm rod?

13.
Three pumpkins are weighed two at a time in all possible ways. The weights of the pairs of pumpkins are 12 kg, 13 kg and 15 kg. How much does the lightest pumpkin weigh?

14.
A palindrome is a positive integer that is the same when read forwards or backwards.  For example, 545 and 1331 are both palindromes.  What is the difference between the smallest

three-digit palindrome and the largest three-digit palindrome?
